EJuardian

Shipping Specifications ACCESS & DOOR HARDWARE

Miscelaneous

Item Quantity/ Cartons/ Quantity/

Item Description Number Qty Wat. (kg) Wagt. (Ibs) Carton Wgt. (kg) Wat. (Ibs) Pallet Pallet Wagt. (kg) Wat. (Ibs)
Spring Bumper 4" SB0235 pc 0.87 1.91 8 7.0 15.3 160 1,280 1,114 2,450
Spring Bumper 10" SB0485 pc 1.25 2.75 8 10.0 22.0 50 400 500 1,100
1" Tubular Shaft with 1/4" Keyway HT0114 /m 1.40 3.08 50 70.0 154|Bundled TBD
1" Tubular Shaft with 1/4" Keyway (per ft.) HT0114 /ft 0.43 0.94 50 21.3 46.9(Bundled TBD
1" Solid Shaft with 1/4" Keyway ST0114 /m 3.80 8.36 25 95.0 209(Bundled TBD
1" Solid Shaft with 1/4" Keyway (per ft.) ST0114 /it 1.16 2.55 25 29.0 63.7|Bundled TBD
1/4-20x3/4 Tek Screw FS822 pc 0.01 0.02 3000 21.0 46.2 50| 150,000 1,050 2,310
1/4-20x1" Tek Screw FS823 pc 0.01 0.02 2500 20.0 44.0 50| 125,000 1,000 2,200
1/4-20x5/8 Ribbed Neck Track Bolt FS827 pc 0.01 0.01 4000 20.0 44.0 50| 200,000 1,000 2,200
3/8-16x1-1/2 Machine Screw FS841 pc 0.02 0.05 800 18.4 40.5 50| 40,000 920 2,024
3/8-16 Hex Nut FS843 pc 0.01 0.01 2500 15.0 33.0 50| 125,000 750 1,650
3/8-16 Whiz Flange Nut Zinc FS8244 pc 0.01 0.02 2500 20.0 44.0 50| 125,000 1,000 2,200
1/4x3/4" Sheet Metal Screw FS8212 pc 0.01 0.02 2500 17.5 38.5 50| 125,000 875 1,925
Cable CT0847 pair 21.0 46.2 TBD
Chain Keeper SB0211 pc 0.01 0.02 100 1.0 2.2 50 5,000 50 110
Spring Support (4" O.D. x 11.8") SS3000 pc 0.05 0.11 50 25 5.5|Bundled 0 TBD
Spring Support (6" O.D. x 9.9") SS3600 pc 0.06 0.13 50 3.0 6.6(Bundled 0 TBD
Weight Bar RW0001 pc 1.00 2.20 20 20.0 44.0 50 1,000 1,000 2,200
Keys

Item Quantity/ Cartons/ Quantity/

Item Description Number Qty Wagt. (kg) Wat. (Ibs) Carton Wat. (kg) Wat. (Ibs) Pallet Pallet Wagt. (kg)
Straight Key (1"x1/4"x1/4") KY1401 pc 0.01 0.02 2000| 0.406401| 0.894082 75| 150,000 30 67
Bend Key (3-3/4"x1/4"x1/4") KY1403 pc 0.04 0.08 600| 2.057404| 4.526289 50| 30,000 103 226
Straight High Key (1"x1/4"x3/8") KY3801 pc 0.01 0.03 1800| 0.548641| 1.20701 50| 90,000 27 60
Bend High Key (3-3/4"x1/4"x3/8") KY3813 pc 0.05 0.12 400| 2.057404| 4.526289 50| 20,000 103 226

Roller Door Parts

Item Quantity/ Cartons/ Quantity/
Item Description Number Qty Wat. (kg) Wat. (Ibs) Carton Wat. (kg) Wat. (Ibs) Pallet Pallet Wagt. (kg)
Drum Wheel DW0001 pc 0.38 0.836 15 5.7 12.5 16 240 91 201
Drum Wheel, Steel DWO0011 pc 0.61 1.342 15 9.2 20.1 16 240 146 322
Roller Door Lock RL0003 pc 0.3 0.66 35 10.5 23.1 94 3290 987 2,171
Saddle RP0001 pc 0.25 0.55 100 25.0 55.0 50 5000 1,250 2,750

©2015 ADH Guardian USA LLC 150608



